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304 Register No.: f

April 2024

Time — Three hours
{Maximum Marks: 100)

[N.B. 1. Answer all questions in PART A. Each question carries
one mark.

2. Answer any ten questions in PART B. Each question carries
two marks.

3. Answer all question by selecting either A or B. Each question
carries fifteen marks. (7+8)]

PART - A
1. Give an example of an electrolyte.
2.  What is called tinning?
3.  What is ignition temperature?
4, What is e-coli.
5. What is meant by smog?
PART - B

6. Define Faraday’s first law of electrolysis.

7. Write the uses of solar cell.

8. Write down the cell notation of Daniel cell.

9. Define corrosion.

10. What is meant by Galvanization?

11. What are luminescent paints?

12. Mention the composition of LPG.

13. Write down the equation for the calculation of finding theoretical quantity
of oxygen required for the combustion of 1 kg of a fuel containing carbon,
hydrogen, sulphur and moisture?

14, What are the two types of liquid propellants?

15. Describe rain water harvesting.

16. Write a short note on TDS.

17. How will you remove temporary hardness of water?

18. What are green house gases?

19. Define eutrophication.

20. How is ozone layer depleted?
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PART - C

(i) Explain electrolysis with a suitable example.
(i) Explain electrochemical cell with an example.

(or)
(i) Explain electroplating with an example.

(i) Explain the Faraday’s law of electrolysis.

(i) Explain the differential aeration theory of corrosion with suitable
examples.

(ii) Describe the methods of galvanization.

(or)
(i) Explain anodizing. What are its applications?

(i) Explain the preparation of oil varnish and spirit varnish.

(i) Explain the preparation, composition and uses of producer gas.

(ii) Explain the various products obtained from petroleum.

(or)
(i) A fuel contains 80% C, 8% H, 1% S and 3% ash by mass. Find
the amount of air required to burn 1 kg of coal.

(ii) Explain the classification of the propellant.

(i) Explain rainwater harvesting method and also mention
advantages of rain water harvesting.

(ii) How hard water is converted in to soft water using reverse
osmosis method?
(or)
(i) A sample of 100 ml of hard water consumed 18 ml of 0.01 M
EDTA solution. In another titration, 100 ml of the same sample
of hard water after boiling for half an hour consumed 12 ml of

the same EDTA solution. Calculate (1) Carbonate hardness and
(2) non-carbonate hardness.

(i) How hard water is converted in to soft water using ion exchange
method?

(i) List the problems caused by ozone layer depletion.
(i) Describe Global warming.

(or)
(i) Explain the problems and treatment of effluents.

(i) Explain Harmful effects of sewage.
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